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5) Candidate is required to write the Question Paper Booklet Code
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1) Which one of the following sentences is the correct one?
(A) She is both a dancer or a poetess.
}\’fBﬂhe is both a dancer and a poetess.
(C) She is both a dancer nor a poetess.

(D) She is both a dancer as well as a poetess.

2) Find out the most correct sentence from the options, which means,

“[ tried to explain my situation for being late to my officer but all in vain”,

B(M}f officer smiled and left the room.

(B) 1 tried and I succeeded.

(C) My officer got me wrong.

k(}})/ My officer did not react at all C/

3) Mann gave a very good speech in English. He is really very good

English.
(A) by \ (B at
(C) with _ (D) in

4) “I don’t mind to be poor, but you don’t even try to be different” - who
speaks this?

(A) Emily (B) Dilsad

h{(“ Sally (D) llaben Bhatt
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5) Let us do nothing

(A) but to read or write (B) but to read and to write
(C) 'but reading and writing M’[ read and write

6) “The bag was too heavy for me to carry”.
The complex sentence for the above sentence is

(A) The bag was heavy enough that I could carry it.

(B) The bag was so heavy for me to carry.

Mhe bag was so heavy that I could not carry it.

(D) The bag was heavy that I could not carry it.

7) Youorl _in the wrong.

(A) be | ' (B) were

\(%n (D) are

8) A language teacher of class VIII was given the responsibility of selecting
a text book for teaching language. Which factors should he keep in mind
while selecting the text book?

i - Difficult lesson first, than easy lesson, than grammar lesson
i1 - First grammar lesson, than difficult lesson, than easy lesson
iii - Easy lesson first, than difficult lesson, grammar lesson
iv - Difficult Iesson first, than grammar lesson, than easy lesson
(A) Only-i (B) Only - ii

\'-{E/)/ Only - iii ' (D) None of the above
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9) The main objectives of teaching language are:
1), The student understands the language when spoken.
11) The student speaks the language correctly.
i1i) The student writes in the language correctly.

iv) The student is able to master the language.
(A) Only i & 11 are correct

\@/Dnly 1, i1, iii are correct
(C) Only iv is correct

(D) All the above are correct

10) Who was the Chairman of Secondary Education Commission constituted
in October 19527

(A) Dr. Purshotam Das (B) Dr. Rajendra Prasad
\V Dr. Laxman Swami Mudliar (D) None of the above

11) Which of the following skill can be developed through interaction and
dialogue in a language class room.

(A) Patience and confidence (B) Speaking skill
Woﬂl (A) & (B) (D) None of the above

12) In which of the following country the ‘Direct method’ of language teaching
started in 19" Century?

(A) South Africa By Europe
(C) India (D) Asia

13) A language teacher in class sixth while showing a picture asked the
students to write down the vocabulary related to it. The teacher used which
of the following methods.

Association method (B) Imitation method

(C) Story telling method (D) All of the above

S/TAT/316(E)14-H 5 (P.T.O.)



B - 503

14) Which of the following is the ideology of the famous educationist
Froebelon language teaching?

(A) He emphasized on teaching reading and writing together.
L}Jﬁf He emphasized on teaching of reading before writing_
{C) He emphasized on writing first, then reading.

(D) None of the above.

15) “Hand writing is one important facet of education”. This was said by

(A) Gijubhai Badeka (B) Baba Ambedkar

\.(p/ﬁiandhiji (D) Jawaharlal Nehru

16) In a language class room while teaching Ramayana the teacher focusses
on the ideals of Lord Rama. Which quality is developed through this?

(A) Imagination _ Moral values

(C) Attraction towards literature (D) None of the above

17) Which of the following educationists stressed on the importance of
language teaching along with the environment of the school?

(A) Gandhiji
(B) Mother Teresa

MRybem

(D) None of the above

18) Shantiniketan founded by Guruji Rabindranath Tagore propagated which
of the following:

(A) Gaining knowledge through ‘Teaching aids’
(B) Gaining knowledge through books
(C) Gaining knowledge through teacher

\[9'( Gaining knowledge through nature

S/TAT/316(E)/14-H 6
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19) A language teacher observed that the students of his school were not able
to develop language skills appropriately so he decides to make a language
lab. Which skills can he develop through the language lab?

1)  Skill of pronunciation & Verbal expression
11)  Skill of listening
iii) Vocabulary skill
iv) Writing skill
1, ii, iii (B) Onlyi&ii
(C) il &iv (D) All the above

20) Development of which of the skills is the main aim of a language teacher
while teaching prose?

(A) Reading & pronunciation (B) Listening & Writing
(C) Writing & Reading {_l;)/!-";ll of the above

21) According to Blooms which domain is responsible for change in

behaviour.
(A) Cognitive (B) Affective
\yz{ Both (A) & (B) (D) None of the above

22) *The responsibility of a teacher is to discover the wisdom which is within
in a child”. This 1s said by -

\.W/ Swami Vivekanand (B) Swami Dayanand
(C) Arvind Swanu (D) Swami Ramanand

23) A language teacher of class IX asked three boys Ravi, Dinesh and Aditya
to stand up. Which of the following facts of vocabulary he was trying to
teach?

(A) Prefix & suffix (B} Antonyms

(C) Word with multiple meanings {Iyﬁynonyms
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24) Which of the following statements is true for the development of language
in children?

(A) Language in a child develops on its own
(B) Development of language takes place due to family and environment
(C)} A child learns language in the womb of a mother

\_/(,13{ Development of language takes place only in a family

25) Speaking is given utmost importance in education system because

(A) A child can express himself in an effective way
(B) A child can earn status through this

(C) A child can develop confidence and develop his personality

M All of the above

26) Which of the following skills verbal language enhances
(A) Skill of appropri;ite speech (B) Social skill

(C) Communication skill Q’Q,}/’All the three

27) Which of the following statements did Macauley accept regarding learning
a language?

(A) Only verbal language 15 important
(B) ammar must be taught before speaking

(C¥ Master of the language is the one who learnt language before
grammar

(D) None

S/TAT/316(E)/14-H 8
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28) Find out the word that can be used in place of the underlined words /
phrase.

Don’t worry. I will stand by you in the hour of need.

\_(A/L/Support (B) promise 9

(C) stand near (D) remember

29) I think you danced better than
(A) us (B) him

(&) ' (D) me

30) What do we find in the emblem of China?
(A) a wheel
(B) the Gate of Heavenly Peace

(C) five stars

\_(9)/ both (A) and (B)

31) E-cards are easy to carry because

(A) They can be used all over the world.

\@/They are paperless money. s

(C) They are digital money.

(D) They can be used for any purchase.
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32) Shecarried  my instructions to the last detail.

(A) away (B) off

\(C)/Gul (D) on

33) One of the following statements is grammaltically incorrect:
(A) As she was ill, she couldn’t go to school.
(B) Due to illness she couldn’t go to school.
Because of illness she couldn’t go to school.

(D) Owing to illness she couldn’t go to school.

34) Which of the following is not a disadvantage of paper money?
(A) It can be easily torn out. |
(B) It can be easily damaged.

\LQ/IE can be easily stored.

(D) It can be easily stolen.

35) Mother’s third pair of eyes will be

(A) to keep a watch on her house hold chores.

B - 503

to sense the secrets of her children without conversing with them.

(C) to make her children realize that she loves and understands them.

(D) to keep a watch on her children.
36) What did the Giant wait for?
(A) the summer
\,PB{:hﬂ spring
(C) the Autumn
(D} the children

S/TAT/316(E)/14-H 10
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37) The Basket ball final match of the Olympics of 1972 shows that
(A) the referees favoured the Russian team.
(B) the efforts of the team can turn the tables in a game.
(C) only one player of a team can decide the result of a game.

you can’t be sure of the victory until the game ends.

38) Some specific moves of honey bees indicate

th direction and distance of the flowers as well as of the nectar
source of flowers.

(B) the direction and distance of flowers.
(C) the direction and distance of the nectar and source of flowers.
(D) the direction of flowers.

39) Robert Frost finds the woods
(A) dark
(B) filled with flowers
(C) lovely :

\_@/ beautiful, deep and dens

40) Which of the following sentences is true about this question? Where and
‘when was the first atom bomb dropped?

(A) Cities of America in 1952.
\)(BO/Cities of Japan in 1945.

~ (C) Cities of England in 1950.
(D) Cities of Russia in 1948.

41) Sometimes we become angry with some people because
(A) they also become angry with us.
(B) they are basically not nict:.pmp}e.

(C) we can’t control or change them.

(D)~ they don’t act or say as per our expectations.
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42) Ravan had five pairs of heads. The underlined expression means:

M proud and strong person

(B) a man with 10 heads

(C) a slrong person

(D) a proud man

43) The topic of ‘Diamonds’ was divided into two subtopics and they were

(A) Export and project
(B) Import and Export

\){Z{ Introduction and Export

(D) Presentation and Export

44) The equal . of an employee and the contribution of the employer
make the provident fund of the employee.

(A) addition (B) collection

(C) subscription \Q/Sharc

45) Everyone in the compartment was shocked. The man Froze with a sense
of guilt because

(A) The man was injured by other person.
Gandhiji caught the spit in his hands.
(C) The man had no ticket for travelling.

(D) The man’s neighbour dropped from the compartment.
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46) Apart from helping the poor labourers in Ahemadabad. Ilaben has written
a lot about the problems faced by them.

Ilaben has written about
(A) the problems faced by cart -pullers.
(B) the problems faced by women
\9/ the problems faced by poor hard working labourers.

(D) the problems faced by young vendors.

47) What you here since long?
(A) were + doing
(B) are + doing

(C) have + done

\9/ have + been domng

48) It was stated in the letter that an early reply highly
(A) 1s, appreciated
(B) would be, appreciated

\.LQ)/wouId, be appreciated

(D) will, be appreciated

49) Select the appropriate option for the blank.

A cap seller moved from village to village and sold caps on a
SUITIINIET.

(A) heated

(C) hottest
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50) If you read newspapers you _ notice that there is definite space
for letters.

(A) would (B) could

(@Am (D) can

51) Quiz master Naren Joshi welcomed and invited the members of Team India.
They were

miml, Sylvia and Meghal.

(B) Irfan, Asma and Avani
(C) Nishant, Firoj and Astha.

(D) Ekta, Sweta and Abhishek.

&

52) The preparation for the programme started a couple of months ago.
In this statement underlined words show

(A) Intensity of sound (B) Length of a stick

(C) Depth of a pit \{p/Period of time

533) Both the dogs believe that their masters

haven’t enough to do and that’s why they keep on quarrelling.

(B) are always in a bad mood.
(C) don’t treat them well.

(D) respect each other.

S/TAT/316(E)/14-H 14
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54) In the evening

Metabulism is at its lowest. (B) mood is at its best.

(C) taste and smell are sharpest. (D) manual efficiency is high.

55) The following sentences can be joined using the perfect participle. Find
out the correct answer. ‘They interviewed me very hard. They gave me a
letter of appointment’.

(A) Having been interviewed very hard, they gave me a letter of
appointment.

(B) After they had interviewed me very hard, they gave me a letter of
appointment.

(C)“Having interviewed me very hard they gave me a letter of
appointment.

(D) Having interviewed very hard, they gave me a letter of appointment.

56) The angel found the model of the mother very
(A) interesting | (B) beautiful

(C) soft (D) tough

57) To lose heart means

(A) To fall in love. (B) To be encouraged.
\(9/TU be discouraged. ' (D) To get frightened.

58) Alfter some moves Anand said, “ “Amma” suppose I move my bishop here,
I can capture your king”.

In chess capturing the king is called

(A) check box (B) checklist

(C) checkmark \9/ checkmate
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59) *“I was not at all sure that I hadn’t hurt her when I pulled the receiver out”.
This means

(A) I was confused whether I had hurt her or not when I pulled the
receiver out.

(B) I was sure that I hadn’t hurt her when I pulled the receiver out.
(C) I wasn’t sure that I had hurt her when I pulled the receiver oul.
l@/l was sure that [ had hurt her when I pulled the receiver out,

60) If you had not been there, I differently.
(A% might have acted (B) might act
(C) might acted (D) may have acted
i
61) who wants to go earlier must obtain my permission.
(A) Each one (B) Someone

(C) Everyone \Mn yone

62) What change was noticed in Bunty after his uncle had arrived from
Mumbai?

\jﬁ{{ he walked around like a great man.
(B) he stopped talking with his friends.
(C) he started dreaming.

(D) he became stylist.

63) Find out the most, grammatically correct sentence.

(A) The man which I met last week, was one of the members of the
committee.

(B) The man who I met last week, was one of the members of the
committee.

\(;)/{he man whom I met last week, was one of the members of the

committee.

(D) The man whom I will meet last week, was one of the members of the
committee.

S/TAT/316(E)/14-H 16
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64) Who was the Prime Minister of India before Mrs. Indira Gandhi died?
(A) Her father Shri Jawaharlal Nehru. :
(B) Her son Shri Rajiv Gandhi.
(C)~ Mrs. Indira Gandhi herself
(D) Her daughter Priyanka Gandhi.

65) The world is grateful to China because
(A) it has the largest popu]:;tinn. _
(B) it gave us one of the wonders of the world i.e. The Great wall.
(C) the industrial revolution started from China,

it invented the compass, paper and the silk cloth.

66) was he who spoke to me.

(A) Whose (B) The person

C)y It (D) The man
67) We have been saluting the national flag 1947.

\W since (B) after

(C) for (D) because
68) The doctor the patient medicine.

(A) told (B) advised

(C) proposed Mcscribcd .
69) their natural game, they would have won the match.

(A) They had played. \_{ﬁ)ﬂf they had played.

(C) When they had played. (D) Because they had played.
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70) King Jﬂhn asked questions to the Abbot because
\y/he was jealous of the Abbot and wanted to do away wmh him.
(B) he really didn’t know the answers.
(C) he wanted to humiliate the Abbot.
(D) he wanted to test his knowledge. /

71) Paul’s sister enjoyed

(A) talking into the telephone. (B) jumping off the stairs.

(C) yelling at Paul. Mring her brother.

72) The father donated his kidney to his son. This is a great

Mcriﬂce (B) joy ]

(C) curiosity (D) award

73) Arjuna had to die because
(A) he was proud of his strength.
(B) he was proud of his beauty.

We insulted great warriors.

(D) he was very proud of his wisdom.

74) Roy Croft, the poet says “I love you for what I am when [ am with you”,
IMEAS
(A) ,To be with a friend is a curse.
\_@/Tﬂ be with a friend is a bliss.

(C) We should love a friend when he/she is with us.

(D) You should know and then love your friend.
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75) “This is the sixth Punjab regiment reporting ,” said he and put
down the receiver.

\(é,)/m-'ﬁr : (B) about

(C) in (D) on

where the shoe pinches, we cannot find remedy.

Mjnless we know (B) Because we know
(C) Since we know (D) If we know
77) Hardly had he touched the screen of his mobile, a FIFA World

Cup Match appeared.
\(}-\/ when (B) just
(C) for (D) then

78) I make out what you say.

(choose the correct meaning of the underlined phrase).
(A) ignore (B) drive out

(C) hear understand

79) When Jullian saw a boat lying on the river bank, it was her
(A)tenth day in jungle. (B) eleventh day in jungle.
(C) third day in jungle. (D) fourth day in jungle.

80) After coming back in 2094 A.D., Jignesh Parmar and his team found
themselves in

(A) theTS1
a desert
(C) a green garden

(D) Digvijay’s house
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81) Sanjanaa danced as if she Madhuri Dixit.
(A) has (B) was
( were (D) 1s
82) do you think is the best cricketer now?
(A) Which
\w{ Who
(C) Whom
(D) What

83) ‘The boat goes down’- on which principle does it work?
(A) The imbalance created by air.
\}B{The principle of force caused by trapped air.
(C) The principle of force caused by trapped water.

(D) The principle of force.

84) He is blind One. eye.,
\ _yA)/ of (B) in

(C) at (D) by

85) Who had written these words? To whom? — “Of course there will be times when
you are afraid, --- imagine you can hear my voice”.

) Hollis Meynell to Lieutenant Blandford.
(B) The lady past forty to the lieutenant.
(C) Lieutenant Blandford to Hollis Meynell.
(D) The girl in a green suit to the lady past forty.

SITAT/316(E)/14-H 20



86) “To mock™ means
(A) to laugh at somebody by calling his pet-name.
Wt(} laugh at somebody by copying what he says or does.
(C) to laugh at something which we don’t like.

(D) to be funny.

87) Whom do you want to see?

(A) He or her? Mﬁl’ or him?
(C) She or him? (D) She or he?

88) Find out the most appropriate option for;
“Helen tried to convince her teacher to take rest’.
(A) Helen tried to neglect her teacher.
(B) Helen sacrificed for her teacher.
\_9/ Helen tried to persuade her teacher to take rest.

(D) Helen tried to copy her teacher.

89) “To whom are you sending these greeting cards?”
After changing the voice of the above sentence, it will be

(A) To whom these greeting cards are being sent?
(B) Whom are these greeting cards being sent by you?

(C) Who is sending these greeting cards?

(Dy” Who is being sent these greeting cards by you?
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90) Fill in the gaps with proper pair of words.
The mother Cheetah calls her cubs by giving whistle like -

\-}4‘?0/‘3. high pitched --- a bird (B) a slow pitched --- a person

(C) a loud pitched --- an insect (D) a low pitched --- an animal

91) A little girl was standing near the gate of the school and crying she doesn’t
know the meaning of Rheumatism.
A little girl was sobbing be:;eillse
\Mlﬂ did not know the spelling of rheumatism
(B) she was punished

(C) she did not know any spellings

(D) she was lost

92) A father was trying to sing a lullaby to make his child sleep. In the silent night,
his song and the child’s cry the neighbour,

Fill in the gap with appropriate form of the verb.

(A) has awakened (B) was awakened

(C) awaking \}Dﬂ"awakﬂned

93) In the last stanza of the poem ‘Growing’ the poet deeply expresses his love

(A) for himself . (B) for his dreams

(C) for the world \_ﬂ?J/fc:r his mother
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94) Read the following passage and choose the correct options for the questions
given below IL.

In 1925, a young Chinese student visited India. As he was much inspired by
Tagore and Gandhiji, he joined Tagore’s Vishwa Bharati at Shantiniketan and
soon became popular there. However after sometime he was in trouble. He was
suspected of being a spy. Whatever he said or did was watched. This disturbed
him somuch that he decided to leave the place.

Find out a word used for *“a person collecting secret informations about another
country, organization or person’.

(A) popular person
(B) trouble

‘\EC)/SP}’

(D) student

95) The Chinese student made up his mind to leave Shantiniketan as

M his work and his words were being watched by others and he was taken
Wrong.

(B) he was inspired by Tagore.
(C) he was inspired by Gandhiji more.

(D) he visited India.

96) Calamities such as earthquakes by human beings.
(A) would not be controlled. (B) may not be controlled.
(C) should not be controlled. YD) —can not be controlled.
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97) Mr. and Mrs. Dalal were disappointed

(A) to see their boys playing film songs.
(B) to listen to western music.

(Cy” because their children didn’t listen to them and continued dancing to the
loud rhythm.

(D) to see their boys dancing.

98) ‘Chronobiology’ means:
(A) biorhythms.
(B) the biology of living organisms.

(C) the science of nature.
t{9/{1%: biology of time.

99) If I. can’t face circumstances boldly - then I am
(A) a confident pe'rson.
. not a confident person.
(C) an over-confident person

(D) none of the above.

100) Hitansh has won the race. Let us congratulate him __ his success.
(A) a (B) of
M (D) for
ecoeoe
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